1.

xo A f(x) S x-28 W UM 75014, x- 302 UHeH
U z]7t golct, o] thalAl S (x - 2)(x - 3) 2 & s wjo] YA E

Foha?
D x-1 @ 2x+3 @4x—3
@ 4x+3 ® 3x-1

YUz ZelolA £(2) =5, f(3) =9

F(x) = (x=2)(x=3)0Q(x) +ax+b = W,
f2)=2a+b=>5, f3)=3a+b=9=
AYste] EHa=4, b=-3

S UHA = 4x-3




A f(x)E x+ 12 s oo Ym2]7} 30|11, x — 22 o] A
ojZict. o] A& (x +1)(x-2) 2 Ws wjo] YA 5 F5HH?

D 2x+1 @—x—l—? ® x-1
@ 2 ® 3

R(x) =ax+ b2 FH
R(-1)=-a+b=3 R(2) =2a+b=0
a=-1, b =202 R(x) = —x + 2




x—2, x+ 22 WS o, Y7t 242 5, 30]2)
] f(x)E x* — 4= Y UYHAE 61 ax + b

f(2) =5, f(-2)=3

f(x) =(x2-4)0(x) +ax+b
=(x-2)(x+2)0(x) +ax+b

f(2)=2a+b=>5, f(-2)=-2a+b=3




~12 e 3eA7h 2011, x4 22 e YA}

g Ex
soleh. T f(x) & (x - 1)(x +2) 2 Uhe UHAE R(x) 2 & o,
Zre9

] 2ol ejste,
fx)=(x-1)(x-2)0(x) +ax+ b & 5
f)=a+b=2
f(=2)=-2a+b=5
AHstH, a=-1 b=3
S R(x)=-x+4+3

R(2) =1

At




)
o
1>
=

ofth. oluf, f(x) & 2+ 3x + 22 tHs Wo] Y27

D 2x+5 @ -3x ® 3x+6

@)ax+7 ® 5x+8

0E x+ 1, x4 28 1S uje] yuA7 47 3, — 1

o
sf
flo

O f()E P2 +3x+2,F x+D)x+2) 2 UEs o
Q(x), YH A& ax + b=kl oFH

f(x) = (x+ D(x+2)Q(x) +ax + b2 F= 5 AT
EAIY] 2AANA f(-1) =3, f(-2) = -1°]E2
f(-1)=-a+b=3

f(-2)=-2a+b=-1

A =g =4 h=7

watA, Tk oA x4 7




@D 2x+3 @ 3x-4 @4x—5
@ 5x+6 ® 6x-T7

f(x)=(x-2)01(x)+3, f(2) =3
f)=(x=-3)0:(x)+7, f3) =7
f(x)=(x-2)(x-3)Q3(x) +ax+b
f(2)=2a+b=3,f(3)=3a+b="7 0]tk




x o e A f(x) B x4+ 1Lx + 2 2 UHEAS o] |7t
Z47F 4, —18 ol AT} f(x) B (x+1)(x +2) & H+3UE w9
U215 ehi?

D x+4 @ x-4 @22x—|—26
@ 22x-26 ® x-18

B

f(-1) =4, f(-2)=-18
f(x) = (x+1)(x+2)Q(x) +ax+b
—a+b=4, —2a+b=-18

Soa=22, b=26

il




D)2f(1) - £(2)
® 2(1) + f(2) @ 4{f(1)
® 4{r(1)-r(2)}

B

f(x) = (x* = 3x+2)Q(x) +ax+b

=

=(x-1)(x-2)0(x) +ax+b
R(x) = ax+b, R(0) = b
fQ)=a+b, f(2)=2a+0b
2f(1) - f(2)=b




AL £(x) S x+ 12 e B A]7E —20] 3, x— 22 UHe e A]7}

Nl

1 o, f(0) 5 (x4 1)(x - 2) 2 iz HAE?

il

@ 2x+1 @ x+1 @x—l

@ 2x-1 ® 3x+2




. B f(0) S x -1, x- 22 the YR 27} 1, 20] ok
f)E (x-1)(x-2) 2 e o] Kol o(x) & o, f(x)E x-3
S 2 U W A2

@ 0(3)+3 @ 0(3) +4 3)20(3) +3
@ 20(3) +4 ® 0(3)

Fo1R 2494 f(1) =1, f(2) = 2°[ch.

f(x)=(x-1)(x-2)Q(x) +ax+ b ESH

fQ)y=a+b=1, f(2)=2a+b=2

La=1,b=0

S fx) =(x-1)(x-2)0(x) +x
f(3)=20(3)+3




11.

f(xX)Ex-1, x—22 Yz YHAZF 2423, 54 o, f(x) & x*-3x+2
2 U e g Foh?

@2x+1 @ 2x+3 ® 2x-1
@ 2x ® 2x-3

B

X2 =3x+ 22 WE &2 O(x), YHAE ax + b2k 514 f(x) =
(x2 =3x+2)Q(x) +ax+ b

O f(1) =3, f(2) =5°|22

a+b=3,2a+b=>5

La=2,b=1

webd, Fohe LAl ox 4 1




12, o3 f(0) S x-2, x+ 322 Y-S o U7} 2 1, -4
oty f(x)E xX* +x-62= Y& wjo] YA E R(x) 2t & ),
R(5) ©] &= FoFH?

® 2 @3 @) @ 5 ® 6

B

f@)=1 f(-3)=-4
R(x) = ax+ b=} 5}H
fx)=(x+3)(x-2)0(x) +ax+b
2a+b=1, —3a+b=-4
La=1 b=-1

R(x)=x-1

R(5)=5-1=4




